
 

Question    
1. a. In which month and year did 

Edward the confessor die? 
January 1066 1 

 b. What nationality was Edward 
the Confessor? 

Anglo-Saxon (accept English) 1 

 C. Why was the person next in 
line for the throne not clear? 

Edward had no children (an heir) 2 

2. a.  Who led the Vikings in this 
battle? 

King Harald Hardrada 1 

 b. Explain two significant 
outcomes of the battle, and 
why they were significant. 

Give two marks for points, and a further 
two for explanation. 
  

 Harald Hardrada was killed/threat 
to England gone. 

 Tostig Godwinson killed/happy 
Harold! 

 It gave Harold confidence/too 
much as he then lost at Hastings. 

 It tired Harold’s army/marching up 
and down England left them tired 
for Hastings 

 
Accept any other valid points.  

4 

3.  a. Which side of the battle used 
cavalry? 

The Normans/William 1 

 b. Explain how William won the 
battle. 

Award one mark for each point or for 
detailed explanation of a point  
 

 William used a mixed army of 
infantry, archers, cavalry. 

 William tricked Harold into 
dropping the shield wall. 

 Harold’s troops did not listen to his 
orders. 

 Harold’s army was tired due to 
marching. 

 
Accept other valid points/explanations. 

 
 

4 

4  Which man, Harold 
Godwinson, Harald Hardrada 
or William should have been 
king of 
England? 
Explain your answer. Aim to 
talk about both reasons for 
and against each man. Come 
to a  
justified conclusion. 

For this question, use the following best fit 
from the table below. 
 
 

 



Level 1 Describes some reasons for ONE man being the best. 
 
Low quality of English – SpaG (Spelling, punctuation and grammar) 

1-3 

Level 2 Explains some reasons for OR against two or three of the men. 
 
OR 
 
Describes some reasons for all three men being good AND bad for the 
job. 
 
Comes to a basic conclusion as to who the best king would be but this 
may not be explained.  
 
Good SPaG – some mistakes but not many.  

4-7 

Level 3 Complex explanations of arguments for all three of the men being king. 
 
Comes to a clear, reasoned conclusion. 
 
Excellent SPaG with very few errors.  

8-10 

 

When you have found a mark out of 24, use this grid to show what grade you have achieved: 

 

Marks Grade 
10 or less 2 

11-14 3 
15 4c 
16 4a 
17 5c 
18 5b 
19 5a 
20 6c 
21 6b 
22 6a 
23 7c 
24 7b 

 


